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Section A(0x2marks) .

For each questxon from 14 3{)-ii fuur ophons are: gwen One of them is the

correct answer Make

or 4) on the Opﬁcal Answ
1 When matter galris

the followmg changes

A

B

C

D

(1) A

(2) BandC.

(3) CandD" -

(4) BandD
2."  The graph below shows the change in temperature of pure water over 15

minutes.

Temperature
in°C

-

5 ‘Timein mins.

ey
R 3~ S P,

Which one of the following statements istigeoikecs

(1)  Water is boiling at the 15™ minute.
(2)  There is no change of state taking place.
(3) Wateris gaining heat faster than Ieosmgl

(4) Evaporation takes place before the 15 mmate
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amounto ‘water left in: each oontamer and plotted a bar graph

Based ion the mfarmatlon above, which one of the following graphs shows
the eemeebresults'?
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4. The following flowchart shows the;characteristics of 4:difféfent organisms.

Which are organisms A, B, C and D?

A B C D |
4] batsam ‘bracket fungi | staghom fern | lady’s finger
- (2) pong pong | mushroom angsana tomato
(3) |[#ngsana. = | moss tomato | balsam
(4) |Afncantilip  [bracketfungi | pong'pong tomato

5. The»dlagrams below show parts of the reproduatwe systems of a flower
and of 4 man.

—  Based on the diagrams above, which part of the flower has a similar

futiction as X?'
(1) A
(2 B
3 C
4 D



_}.(.91‘ _ |
A Plant A
3 PlantB
' © PlantC

‘Which of the following comectly matches the plants and their seeds?

PlantB | Plant C__
I |
(2)
@)
“4)




- T e T & Bl o
.~ The diagram’ below shows Gina's family tree:

| B '-'-J'IO'_Feénaié'

Widow's'péak | No mdow’s peak
Round-chin ' | Sharp chin

"o M08

Widow’s peak
Sharp chin

‘Based on the family tree above, which of the following statements are

icorrect?

Gina has 3 cousins.

Gina has two uncles .and two aunts. -

There are-threq-._g_ér%éfaﬁohs shown in-the family.tree.
Gina’s father ha'sl,"'i{p'afsséd on the trait of shaip chin to her.

A and B only

A, B and D only
A, C and D only
A, B Cand D



[ BodySystems |

Vems

Hean

" Skul
Spme

-,Rlb-..ge
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(1)

Girculatory

Respiratory

Skeletal

(2)

Respiratory

Skeletal

' (3)

” Sketetal

Respiratory

Cituatory

(4)

Res.piratow

Skeletal

Girculatory




Garysetupanexpenmenk’asw wribelow:

- Tap. wateér coloured

purple with- Subsiance P . purple wrth Substance P
——

. s..s.:t,-u_pi-,e

Sﬂt-up c

The lgase of the ﬁelery»stalks inSetup A and B'were wrapped with

nbranet and ¥ respecﬁvely befofe placmg them "’ﬁo ﬁ beaker °f tap

,9
observatsen ofthe 3 celetVsi’a!ks inthe table below

R Set-uEA Set-up B Set-up C
‘Observatiens'| Leaves Leaves are Leaves

: pukpl yellowish and are pmple
ﬂoppy ' and Aﬁrm

Which of the following. statemenils canbe concluded from ‘Gary's

Purple pigment can:pass through Membrane X-but not Membrane Y.-
The leaves of the celery stalk in Set-up B will be firm if the base of

the celery stalk was not wrapped with Membrane Y.

experiment?

A Water can pass through Membrane X.
B Water can pass through Membrane Y.
C

D

(1) Aonly

(2) BandDonly

(3) B, CandDonly

A, C-and D only




11, The picture below shows a-boy-blowiri

Which of the followmg con‘ectly describes what happens to his- nbs draphtagm
and chest when: he*blows into.the balloon once? _

| Diaphragm . Chest
SO Mave downwards - | Bigger
(2) R 7f __ I"';_Move upwards | Smaller
(@) Move out and upwards | Méve upwards Smaller

12. Whatwill ih"app.enfto a plant cell'if the nucleus is not functioning properly?

A The plant cell wm not be able to divide.
B The activities of the celt will. not be weli controlled.

G There will be no control over substances moving in and out of the: ... *

cell.

(1) Aonly

(2) AandBonly
(3) AandConly
(4) BandConly



13,

| Does lt ha

Study the flowehairtbelow: - - > .- -

PP

| ‘Does it have nudleus?

| Ddésﬁhé ¥ oplast

[Yes

A

Whatis A, B, C and D?

No

_ A

C

M.

4

Leaf oell

Red blood Qell

Cheek cell

@ |

Guand ce!!

Egg cell

Red blood cell

Leaf cell

Guard cell

Red blood cell

Whlte blood cell _

Red b!ood cell

R’oot ceu —

Spenn cell

14.

(1)
(2)
(3)
4

W and Y only
W and Z only

Y and Z only
W, Y and Z only

In the set-up below, which bulb willstilllight up when bulb X fuses?




15‘ L

Shidy the-four-circuits, ;Q; Riand &as shown below. .

C;ircy.'iit' P ) Clmurt Q

- “Circuit S

The bulbs and the battenes in the four cnrcunts are identical. Ail the bulbs

light up when the ciréuits-are closed.

Whlch one of the followmg statements about the bnghtness of the bulb(s)

(1) The builb in C;mu:t S is as;bright as the bulb in Circuit P.

(2) Eachbulbin CerUlf Qisas bnght as each bulb i in Circuit R,

3) The: bulb in: Circuit: Plis: bnghterthan each bulb in Clrcust Q.

(4) The2 bulbs in Circuit R will-be- dimmer than the bulb in Cmcult S.

10



16. The dnagram below: shows a: cireurt card The wnres connectmg the éhps

are’ hldden from'vne

o T N

John tested the carcunt card w;th a c:rcuxt tester He found the followmg
pa:rs of cllps PQ, PS and Qs caused the bulb m me clrcmt tester to light

up.
W_hieh on’e'-of the following represents the ee’riec; circuit card?

(1) | @

11



18.

: : '-were swnmmmg near
5S¢ n for the above difference in

2y ere-was: Tved oxygen in Tank B.
(3) There were no wa er pla stsfor: guppies to hide in Tank B. -
4) 'The water plants: prov:ded shelterfor the guppies in Tank A.

Ry

Four:children, Alan, % Cart and ‘David, each stated a characteristic of
aninsect.

Alan: Allinsects have wings. :
Bob: All: msects repmduceby iaymg egags. .
Carl All msects have 3 body parts

Which of thie: four chlldren haslhave stated the charactensﬁo(s) which
make an iNSEEF drfferemwfmmihe other. ammal«gmups"

(1) Alan only:

(2) Carl and David only.
{3) Bob, Carl and David only.

~ (4) Allfour children.

12




Which statement(s) best describe{s)Plant A and B?

Plant A

‘It reproduces-by spores.

@

it iszs;n,oi?-a greenplant. - ltlsagree plant |

O

‘It will ot bear fruit: |itwiltbearfruit- ¢

o

It is pollinated by wind. ltis pollinated:by-insects.

(1
(2)
(3)
C))

C only.

A and C only.
A, C and D only
B, C and D only

13




20:- Invhichione of dlie: followmg sumahonswll mould mostjl
- afterafewdays? o =

)

Plain bread
kapt n .
refngerator
at4°

“4).

21.  The following table shows the propemes of materials P and Q. Atickor
" cross represents the presence:or abserice: of the. propertles respectively.

Properties [ Q
Itis a natural-product. v X
It can be stretched. v | x
It is a good conductor of heat. X X
It allows light'to pass through. X v

Which of the following materials are # and Q most likely to be?

P Q
(1) | Rubber | Glearglas
(2) |Clearglass | silic”
(3) | Rubber Mitror
(4) | Wood Miror

14




23.

. Theadnagmm below shows the;
of.a leaf. : S

IR

ovemert of thrse substances:in andiout

Which of the following substances do arrows, A, B and C, best represent?

A B8 T ¢
(1), Sﬁgar Oxygen Carbon dioxide
12 Water _ Oiygen — Sugar

75) a Sugar Carbon dioxide ' Oxygen

(4) 'Wat_et- " Carbon dioxide ' Oxygen N

The graph below shows' the number of days each stage in the life cycle of
an msect !asts

— e o - —— - ———

cmmm e A . —————————

Egg

Nymph

Adult
male

female

How many days would the insect fake to become an: aduil aﬂer the-egg is

laid?

(1)
(2)
(3)
4)

6 days
12 days
18 days
26 days

15



né of the followmg dlagmms shows' aaﬁé‘s‘é' BT ‘arrangemem of two
of ﬂ'xe magnets’7

™ @ |

(3) 4)

16



Diagram 1

Which of the following caused Rod Q to move towards the-m_a"gnet?

A
B
C

(1)
()
(3)
(4)

Rod-Q:was pulléd'bygfavity-

'Rod Q had-lost some of its magnetism.

Rod Q gained more magnetic force due to the flame.

A only

B.only

A and B only

A, B and C only

17



@) -

)

Solid

@)

Gas

27.  The diagram below shows how substances A and B are transported in a
plant.

A

B

B

Based-on the—’diagramj:what are substznces A and B?

(1)
(2)
(3
4)

- Subsiahce A.-

_ SubshnceB

Waier

Mmera! salts_ .

Mineral Salts

Sugar

Sugar

Mineral:Sats-

Starch

Water

18




29.

(1) Aonly
2) D only
(3) B'and Conly
(4) CandDonly

Mei Ling poured-an equalamount of tea into 3 cups, each made of
different: materials, X, Y and Z:She'then. recorded the temperature of the
{ea in.each cup over a pen@d of time'in a table asshown below.

. - Tempemm:e-of:tea °C)
Time (min) X Y 7
0 -90 90 a0
10 65 75 56
20 48 _ 64 38
Which cup(s) would be the best for keepmg a dnnkwarm for the longest
period of time?
(1) CupX
(2) CupY
(3) Cupz

(4) CupsXandz

19




light Shad(’W iy o

dark shadow

The shadow formed by object X was much. Iighter than the one formed by
object Y.

Which of the following materials are X and Y likely to be made of?

Object X ObjectY
(1) iron glass
(2) mirror’ paper
(3) frosted glass copper
(4) styrofoam tracing:paper

20



109 of common salt was ‘them dlssoivéd into t the 'mlxture- The' mo(tdre \)vés '
then heated as’ shown below T '

x_

Droplets of liquid X were forméd on the sides of the funnel during the heating.

(@ How was this liquid X formed? 2]

(b) What is the colour and taste of this liquid X? | - o m n

21



Study g informationg
given information. "

IPa’('af3'-,;=.§,.f§i’f".f"¥ft_réi=_=ﬂhjés
nariie-allthe‘menibets ii the tamily tree:

for yoir. Make use of the legend and

31

Mr Kuek Mrs Kuek

22




e
= Absent “Present | 50
Q.. | Present Absent ' o
R “Preserit 32
5| .- ABsent |- 25

(a) Shaqnwastold that his test was not a'fair one. What should he have done to
ensure a fair test? 1]

(b)  After a few days, Shaun observed that one of the seeds germinated. Which

seed, P, Q, Ror'S, germinated? 1]

(c) in his experiment, Shaun pléée,d his-seeds on cotton wool instead of garden
soil.. Explain why there was no need to use garden soil for his experiment. [1]




A flower from the A seed from
plant the plant

(a)  Based on the information given, what is the most likely way the seeds are

dispersed? [1]
(b)  Exnlain your answer given in (a). [2]
3

24



samples taken

from blood vessels P Q Rand'Si n_.the human curculatory system
4
.Amount
of
oxygen

b’ B!ood samples

(a) Based on' the diagrams above, blood sample C is most likely: taken from
which blood vessel?-Why do you ‘think:so? )

(b)  Explain why blood is pumped faster to the other parts"of the-body when we
exercise. ' 2}

25



(a) qut.zl_'aaﬁpénls"to the Wa'_;teﬁa{t'ef:'it reaches the leaves? -

m

The arrows below show the flow of blood in the human body.

6th‘ér,p§iﬁs of |
the body

L

(b)  Whatis the difference between the direction of movement of water in plants
and the dtrect:on of movement 6f bibed in the human body?

2]

37. The statements below are about the human circulatory system. Indicaté
whether each statement is triie with the letter T or false with the letter F.  [2]

Stateineﬁgs

True / False

(a)

The white blood cells help to frght genms.

b)

(©

The platelets help blood to clot when an injury occurs.

(d)

The veins cany oxygen—nch blood from the heart to he .

other ‘parts of the body

26




38.

Cn‘cunt A _ Cir' cuit"B"- :

Natalie’ eoncl‘aded that the arrangemem of bulbs does not affect the
bnghtness of- the bulbs :

(a) Based @mthe dlagrams above, give a reason why Natahe made a.wrong
conclusion: . {11

(b)  Draw a circuit diagram in the space below to show what the circuit _
arrangement in A should be for Natalie to conduct a fair fest. [2]

27



(a)

(b)

He ctamped a ‘strip of matenai ‘E'at:the edge of the tab!e befone taping a 40g

wexght" to the end:of the strip: As a. result material E bent: 5s'shown above.
‘He'measured the distance d, which 'was the extent to which the material bent.
Usingtiie:same- 40g weight, he repeated his investigation'with material, F, G
and-H and recorded his results in the table below.

Material .Bistance d (cm)
E 4 '
F 2
G 7
H 12

Whét-‘prop'erty of. the materials was Ali inyestigating?

1]

Name a variable which Ali should-keep constant for #¥air comparison.

1]

28




i tec 'magnet‘“usmgnron nasls She,

40." Fatimah set up an-experime it
of a wzre around nran nall would'

wanted: to find out-if th
affect the strength of. an-v-e

20 coils

(a)  What should Fatimah do to find otit the strength of Her electromagnets? 2]

(b)  If Fatimahwanted to find out whether the number of batteries-affécts the
strength of an ‘electromagnet, what changes should she make to the
experiment above‘> . [1}

29



' A1, Nickfound some organisms and classified them as shown'below. -

I H—
- duckweed” | | staghom fein mushroom™ | [ bread mould
water lettice . {. | bird's'nest fem - {  toadstool

(a)  Give.asuitablé headiiig for Group A and B according to the way the
grouped. - m

' orgafisins

Group A:

Group B:

(b) - Nick placed the organism, moss, in the same group as bread mould. Is he
correct? Explain. B - [1]

—

30



2

@

(b)

(9)

- Z betwesn the light Source and'the light sensor:as.

Material Z

light source | ! : light:sensor

The amount of fight passmg thraugh Matena! Z.was captured by the light
sensor. She then: repeated her.iny estrgatzon using: Maienal Z of different
thickness and: recended ‘the amount=of lightpassing. through it in the table
below,

. Thickness of Material Z {ram) |- Amount of light capturéd {units) -

2 - 600
4 B ‘450
8 S 250
6 - . . 50
State a préperty of Matérial Z. _ | T M

State the relationship between the thickness of Material Z and the amount of
light passing through it. {11

Explain why the experiment needs to be conducted in a dark room? [11

31 .



imenta s shown in the dlagram below- He gentl)'?'*
__er some txme he observed' bubbles

Flask A
' -‘:"

)

retort |
stand

P
A}

(a)  Explain why bubbles were formed in the coloured water. | 2]

- (b) - Mike removed:the flame- and-allowed. the flask te cool down. What would he

observe about the water-in: Beaker A? : 1]
(c)  Explain your answer in (b). - | 11
4




(a)

(5}

' She uSH

50mi of water _E:—

_"-’-a ‘stap-watch.to measure the hme taken for the 50 mI of water to
flow. thn thefunnel into each. flask. Shie nbticed that: the water ﬂowed into
F lask:Bvery quickly, unlike in Flask A. She repeated the expenment afew
tsmes

Why did she repeat the experiment afew times? 11

Give a reason why water can flow-into flask ‘B so quickly. - ‘ _ (1]

" Based on'your answer in (b), how can she change the existing set-up of Flask

A so that the flask would fili up more quickly? [1]

33



Answer

- -~

EXAM PAPER 2011

SCHOOL : AITONG
SUBJECT : PRIMARY 5 SCIENCE

TERM ¢ SA2

QL] Q2 | Q3 [ Q4| Q5] Q607 ] Q8] Q5 [Q10[Qi1]Q12[Q13[Q14] Q15[ Q16| Q17

4 2 2 1 2 3 3 1 4 4 2 2 4 1 3 2 2

Q18] 019 [ Q20 Q21 [ Q22 Q23] Q24| Q25 | Q26 | Q27 [ Q28 [ Q29[ Q30

2 2 3 1 4 3 3 3 4 2 2 2 3

31)a)When the coloured water was heated the water will soon be boiled, then, it
evaporated into water vapour. When the hot water vapour came into contact with
the cooler surface of the funnel lost heat, it condensed into tiny water droplets of

liquid X.
b)tiquid X will be colourless and tasteless.
32) Legend:
D - Male
O — femate
Mr Tan Mrs Tan Mr Kuek Mrs Kusk
i
¥imbety

33)a)He should have kept only one variable unchanged.
b)Seed R.
c)Germination does not require mineral salts hence garden soil was not needed.

34)a)The seeds are most likely dispersed by animals.

b)The animal eat the juicy and sweet fruit and as the seed is hard, the animals
wnll spit out the seed helping to disperse the seed.

Page 1 to 2 page 1



Answer Key


35)a)Blood in P is going from the heart to lungs, hence it must have the least amount
oxygen as oxygen is used by other parts of the body.

b)More energy is needed during exercise. Cell must respire faster to release more
energy. Heart must pump faster to transport digested foos and oxygen to all cells
more quickly.

36)a)1t will be used for photosynthesis to make food for the plant.
b)Water moves in one way in plants while biood circulates through out the
human body.

37)a)T b)F oT d)F
38)a)She had arranged both bulbs Circuit A and B is series so she had made a wrong

conclusion.

b) 1k

@
—&

39)a)He was investigating the flexibility of the materials.
‘b)He should keep the size of the materials the same.

40)a)She should place the iron magnets above some paper clips and see which iron
nails could attract the most number of paper clips and the more pins attracted, the
stronger the electromagnet.

41)a)A: Plants B: Fungi
b)No. Moss can make its own food unlike break mould which feed on other
organisms.

42)a)It allowed some light to pass through so it is translucent.

b)The thicker Material Z is the lesser light is passing.

c)This is no ensure that there are no other light source besides the one in the
experiment captured by the light sensor.

43)a)As the flask was heated, the air in it gained heat and expanded causing it to be
forced out of the glass tubing and into the coloured water as air bubbles.

b)The water in Beaker A will travel up through the glass tubing and bubbles will
gradually decreases until there is no more bubbles.

c)The air in the flask cooks down and contracts. The water in the beaker then
moves up to take up space previously occupied.

44)a)It was to provide a more accurate and reliable result as it reduces the chances
of human error.
b)The air in Flask B originally took up the space but as the water was added and
an outlet of the flask. The enabled water to enter occupy its Space
c)She could poke a hole through the cork so that air can escape from there.
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